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Asurarenm ¢ npeobpasoBaTenem YacToThl Pdv,Ma
Ne kpuBOM Ny maxs MUH-1 JBurarenb Ny, kBT M, kr
1 1370 ANPGE3A4F 0,25 33
2 1570 AVP63BA4F 0,37 34
3 1795 A71A4F 0,55 37
4 2005 A71B4F 0,75 39
5 2260 A80A4F 1,1 43
6 2430 A80B4F 1,5 45
7 2885 A80B2F 2,2 44
8 3200 A90L2F 3 46
9 3495 A100S2F 4 49
AxKycTuka
YpoBeHb 3ByKOBOW MOLLHOCTM B OKTaBHbIX MOJfiocax 4acTtoT L,; = L, + AL,y
N, MonpaBku AL,,;, b B OKTaBHbIX NOfI0OCaX CO cCpefHereoMmeTpuyeckMMm 4yactroramu, Iy
MUH-! 63 125 250 500 1000 2000 4000 8000
<2250 -8 +3 45 -4 -6 -8 -12 -25
>2250 -11 -8 +3 45 -4 -6 -10 -20




